
 

  foKkufoKkufoKkufoKku    (Science) 

Class 8
th

 
  SET - V 

1.  ltho esa vkuqoaf’kd xq.kksa dk okgd gS & 

(A)  ekbVksdkafMª;k  (B)  dksf’kdk nzO;   (C)  thu  (D)  IykTek f>YyhA 

Is the carrier of genetic properties in living being – 

(A) Mitochondria   (B) Cytoplasm  (C) Gene   (D) Plasma membrane 

2.  buesa ls dkSu BaMs ty ds lkFk rsth ls ÁfrfØ;k djrh gS & 

(A) dkcZu  (B) lksfM;e  (C) eSXuhf’k;e  (D) lYQjA 

Which of the following reacts fast with cold water? 

(A) Carbon    (B) Sodium    (C) Magnesium   (D) Sulpher 

3.  lw{e tho ik, tkrs gSa & 

(A) feÍh (B) ty  (C) ok;q (D) lHkh esaA 

Microbes are found in - 

(A) Soil   (B) Water   (C) Air   (D) All of these 

4.  ukbVªkstu dk ok;qeaMy ls feÍh] ikS/ks rFkk tUrq esa ifjogu dh laiw.kZ ÁfØ;k dks dgrs gSa\ 

(A) ukbVªkstu fLFkjhdj.k (B)  ukbVªkstu pØ (C) ukbVªhdj.k  (D) veksuhdj.kA 

The whole process of transporting nitrogen from atmosphere in soil, plant and animal 

is called – 

(A) Nitrogen fixation   (B) Nitrogen cycle  (C) Nitrification (D) Ammonification 

5.  fo|qr/kkjk dh lgk;rk ls fdlh /kkrq ds lrg ij bfPNr /kkrq dk ijr fu{ksfir djus dh ÁfØ;k dks 

D;k dgrs gSa\ 

(A) fo|qrn’khZ  (B) fo{ksi.k  (C) fo|qrysiu  (D) oS|qrcyA 

With the help of electric current, the process of deposite a layer of desired metal on a 

metal surface is called – 

(A) Electro power  (B) Deflection   (C) Electroplating   (D) Electrical force   

6.  tUe ysus okys f’k’kq ds fyax fu/kkZj.k ds fy, ftEesokj dksf’kdk dh lajpuk dks dgrs gSa & 

(A) dksf’kdk nzO;  (B) dsUnzd  (C)  IykTek f>Yyh   (D) xq.klw=A 

The structure of the cell responsible for determining the sex of a child taking birth is 

called – 

(A) Cytoplasm  (B) Nucleus   (C) Plasma membrane  (D) Chromosome 

Minimum Marks - 20 



 

7.   

 

 

Åij fn, x, fp= esa ,d bZaV dks rhu fofHké rjg ls Vscy ij j[kk x;k gSA bZaV }kjk Vscy ij 

yxk;k x;k nkc gksxk & 

(A) A dh fLFkfr esa lcls vf/kd (B) B dh fLFkfr esa lcls vf/kd  

(C) C dh fLFkfr esa lcls vf/kd (D) rhuks fLFkfr;ksa esa cjkcjA 

   

 

 

In the picture given above, a brick is placed in three different ways on the table. 

Pressure on the table by brick – 

(A) Highest in the position A  (B) Highest in the position B     

(C)  Highest in the position C   (D) Equal in all three position 

8.  xyr dFku dks pqfu,A taxy esa vkx yxus dk dkj.k gS & 

(A) euq”;ksa dh ykijokgh  (B) o`{kksa dh dVkbZ    (C) lw;Z dh xehZ  (D) fctyh fxjukA 

Choose the wrong statement. The reason for the fire in the forest is – 

(A) Negligence of humans  (B) Deforestation  (C) heat of the sun  (D) Lightening 

9.  eqxhZ vaMs ds Åij D;ksa cSBrh gS\ 

(A) m”ek;u ds fy,  (B) f}[kaMu ds fy,  (C) vkjke djus ds fy,  (D) eqdqyu ds fy, A  

Why does a hen sit on its eggs to hatch them? 

(A) For incubation   (B) For splitting  (C) For taking rest  (D) For mukulan  

10.  us= ds jsfVuk ij cuk ÁfrfcEc oLrq ds gVk;s tkus ds i'pkr jsfVuk ij cuk jgrk gS & 

   (A) 1/30 lsds.M rd  (B) 1/16 lsds.M rd  (C) 16 lsds.M rd  (D) 30 lsds.M rdA 

The image formed on the retina of the eye remains on the retina after the object is 

removed – 

(A) Till 1/30 second  (B) Till 1/16 second  (C) Till 16 second  (D)  Till 30 second   

 

 



 

11.  xzh"e_rq esa yxkbZ tkusokyh Qly gS & 

(A) jch Qly  (B) [kjhQ Qly  (C) tk;n Qly (D) buesa ls dksbZ ugha A 

Crops grown in summer – 

(A) Rabbi crop  (B) Kharif crop  (C) Zaid crop  (D) None of these 

12.  xzgksa dh ifjØek djus okys [kxksyh; fiaM dks dgrs gSa & 

(A) Ñf=e mixzg  (B) mixzg  (C) {kqnzxzg  (D) mYdkfiaM A  

The celestial body orbiting the planet is called – 

(A) Artificial satellite  (B) Satellite    (C) Asteroids   (D) Meteorite  

13.  ekSle dh Hkfo”;ok.kh] nwjlapkj rFkk lqnwj laosnu esa mi;ksx fd;k tkrk gS & 

(A) xzg dk  (B) rkjks dk  (C) Ñf=e mixzg  (D) mixzg dkA 

In weather forcast, telecommunications and remote sensing in used – 

(A) Planets   (B) Stars  (C) Artificial satellite (D) Satellite 

14.  fpdus lrgksa dh vis{kk ?k”kZ.k #[kM+s lrgksa ij & 

(A) de gksrk gS (B) vf/kd gksrk gS  (C) cjkcj gksrk gS  (D) dksbZ QdZ ugha iM+rkA 

Friction on the surfaces rather than smooth surface – 

(A) Is less   (B) Is more   (C) Is equal  (D) It does not metter 

15.  inkFkZ tks ÁkÑfrd ÁfØ;k tSls thok.kq }kjk vi?kfVr gks tkrk gS] dgykrk gS & 

(A) tSo fuEudj.kh; (B) tSo vfuEudj.kh; (C) la’ysf”kr js’ks  (D) vi?kVdA 

The substance that is decomposed by natural process such as bacteria is – 

(A) Biodegradable   (B) Not biodegradable   (C) Synthetic fibers (D) Decomposition 

16.  gesa dksbZ /ofu lqukbZ nsrh gS bldk dkj.k gS & 

(A) ijkoÙkZu  (B) ?k”kZ.k  (C) daiu (D) Ádk’k  A 

The reason, we hear sound is – 

(A) Reflection    (B) Friction  (C) Vibration   (D) Light 

17.  fo|ky;ksa ;k Hkouksa ds Åij f=’kwy vkdkj dh /kkrq dh iÍh yxkbZ tkrh gS & 

(A) lqanjrk ds fy,  (B) fo|qr foltZu ls cpus ds fy,   
(C) etcwrh ds fy,  (D) Ádk’k vo’kksf”kr djus ds fy,A  
Trident shaped metal strip is put on top of schools or buldings? 

(A) For beauty  (B) To avoid electrical immersion   

(C) For strength  (D) To absorb light 



 

18  ty dks Ánwf”kr djus okys inkFkZ dgykrs gS & 

(A) pw”kd (B) pwj.k  (C) Ápw”kd  (D) Ánw”kdA 

Water polluting substance is called – 

(A) Sucker   (B) Powered   (C) Prosper   (D) Pollutant 

19.  ouksUewyu dk LFkk;h gy D;k gS\ 

(A) iqu%pØ.k  (B) e#LFkyhdj.k  (C) tarq laj{k.k (D) iquoZujksi.kA 

What is the permanent solution of deforestation? 

(A) Recycling   (B) Desertification  (C) Animal protection (D) Reforestation 

20.  Okkguksa ds fy, lcls de Ánw”kd baZ/ku gS & 

(A) isVªksy  (B) Mhty  (C) laihfM+r ÁÑfrd xSl (CNG)    (D) dks;ykA 

Is the lowest pollutant fuel for vehicles? 

(A) Petrol    (B) Diesel   (C) CNG (Compressed Natural Gas)  (D) Coal 
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